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1) Capacitive reactance is more when:
1) - Capacitance is less and frequency of supply is more.
2) +  Capacitance is less and frequency of supply is less.
3) - Capacitance is more and frequency of supply is more.
4) - Capacitance is more and frequency of supply is less.
2) Pure inductive circuit:
1) - Consumes some power on average.
2) - Does not take power at all from a line.
3) +  Takes power from the line during some part of the cycle and then return back it during other part of
the cycle.
4) - None of the above.
3) In an RLC circuit, which of the following is always used as a vector reference?
1) +  Voltage.
2) - Resistance.
3) - Impedance.
4) - Current.
4) What is the unit of admittance?
1) - ohm.
2) - henry.
3) - farad.
4) + ohm"-1
5) A sine wave a frequency of 50Hz, its angular frequency is radian/second.
1) + 100%
2) - 50m
3) - 25m
4) - I5n
6) The period of a sine wave is 0.02 seconds, its frequency is:
1) - 100 HZ
2) + 50HZ
3) - 40HZ
4) - 20HZ
7) A heater is rated as 230 V, 3 kW, A.C. The value 230 V refers to:
1) - Average voltage.
2) + r.m.s. voltage.
3) - Peak voltage.
4) - none of the previous.
8) ) If two sine waves of same frequency have a phase difference of pi radian, then:
1) - both will reach their maximum values at same instant.
2) - both will reach their minimum values at same instant.
3) +  when one wave reaches its maximum value, the other will reach its minimum value.
4) - none of the above.
9) The r.m.s. value and mean value is the same in the case of:
1) - triangular wave.
2) - half wave rectified sine wave.
3) +  square wave.
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4) - sine wave.
10) Power factor of an electrical circuit is equal to:
1) - R/Z
2) +  cosine of phase angle difference between current and voltage.
3) - kW/kVA.
4) - sine wave.
11) the time constant of an inductive circuit
1) + Increases with increase of inductance and decrease of resistance.
2) - Increases with increase of inductance and increase of resistance.
3) - Increases with decrease of inductance and decrease of resistance.
4) - Increases with decrease of inductance and increase of resistance.
12) In a highly capacitive circuit the:
1) - Apparent power is equal to active power.
2) - Reactive power is more than to apparent power.
3) +  Reactive power is more than to active power.
4) - Active power is more than to reactive power.
13) Power factor of the following circuit will be unity:
1) - Inductance.
2) - Capacitance.
3) +  Resistance.
4) - Both Inductance ,Capacitance
14) In a pure resistive circuit:
1) - The current lags behind the voltage by 90°
2) - The current leads the voltage by 90°
3) - The current can lag or lead the voltage by 90°.
4) +  The current is in phase with voltage.
15) The input of an A.C. circuit having power factor of 0.8 lagging is 40 kVA, the power drawn by the circuit is:
1) - 12kW.
2) - 22 kW.
3) + 32kW.
4) - 64kW.
16) as the next figure the average value of waveform is:
4 PLA)
- 1 cycle -
)
0 6 8 _
Y PR 2. 4o | 10 f{ms)
-10
1) - -10A.
2) + -1.6 A.
3) - 4A
4) - 0A

17)
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The voltage across a 0.5 Heoilisv = 100 sin (20t). Then the sinusoidal
expression for the current is:

a. i = 10 sin (20t — 90°).
b. i = 10 sin (20t + 90°).
c. i = 10 sin (20t).
d. i = 10 sin (20t — 60°).
1) + a
2) - b
3) - cC
4) - d
18) With Conversion of the voltage-controlled source in next Figure to
a current- controlled source I =:
a. 048 A2£10°
b. 482 A£0°
c. 048 A-0°
d. 0.40 A-0°
1) - a
2) - b
3) S C
4) - d
19) from the next figure I, =:
000
X, =29 I l
Xe T80
h’|§ 1 Q
X!_:§ 6 ()
+
. -
E =8V 220 _@ = 10V £0°
D - —1.72 428692
2 - 172 Az —86.92°
3) - —127 Az — 86.92°,

4) +  1.27 Az — 86.92°

20)
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Z,

1)

23.5 12— 58.41°,

2)

235 02— 68.41°

3) +t 2350/ —5841".

4) - 32502 — 85.41°
21) from the next figure the current I through the 6 £} resistor is:
1,
000 MW
X; = 61 R=6(0
+
E, = 20 V£30° @ I, (DzA/_ 0° 7= X = 80
1) - 224 47 —-70.2"%

2) | ¥ 442As702e
3) - 442 As7.02°

4) - 442 Az 60.2°

22)
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from the next fizure the Norton equivalent circuit for the network
external to the 7 £} capacitive reactance is:

XL

R,

50
MW
10 | ]
R=20
[=3AZ0° CI) Xe =70

1) | + I,=268A/—103%and Zy=7.5010+j 25010

2) - Iy=268As—203%and Zy=7.500+;2500

3) - I,=268As—103%and Z,=5700+;2500

4y - Iy =268As-103%and Zy=2.500+;7.50 0
23) from the next figure the for maximum power delivering to the load the

impedance Z; must be:

X
E-
ftﬁfuf@
1) - Z,=—-0720—j54610

2) t  Z,=0720—j5461

3) - £,=520-j360

Y - Z,=720-j5460
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